Addendum to Contract No: 2024-1

Title: Contract for Voter Tabulation System And Election Management System Between State of Connecticut AND

Election Systems & Software, LLC

- 1. This Addendum amends the agreement dated August 29, 2024 between the State of Connecticut and Election Systems & Software, LLC.
- 2. This Addendum replaces Exhibit A which detailed a total fixed price of \$19,995,793.00 for deliverables with an amended Exhibit A for a total fixed price of \$20,221,948.00.
- 3. This Addendum reduces the number of DS300 Poll Place Scanner and Tabulators from 2,699 to 2,402.
- 4. This Addendum increases the number of DS950 High-Speed Central Counting Systems from 13 to 20.
- 5. This Addendum increases the number of DS450 Medium Speed Central Counting Systems from 38 to 51.
- 6. This Addendum includes a revised second page of Exhibit A which reflects the changes recited in paragraphs 2-5 to the total number of tabulators. There is no change to the labor costs for these deliverables.
- 7. All other terms and conditions of the Agreement shall remain unchanged and in full force and effect.

The parties are executing this Addendum on the date below their respective signatures.

Election Systems & Software (CONTRACTOR)
BY: Janal Plan
Name: Jared Plan
Title: UP of Finance
Duly Authorized
Date: 3/21/25
STATE OF CONNECTICUT Secretary of the State
Name: Gabe Rosenberg
Title: CoS
Duly Authorized Date: 178 25
APPROVED AS TO FORM STATE OF CONNECTICUT
Office of the Attorney General
BY:
Name: Jeffrey Zeman
Title: Assistant Attorney General
Date:

Exhibit A (Vendor Deliverables)

	Item Description	Unit Price	Extended Pric
F10 10 20 10 20 10 10 10 10 10 10 10 10 10 10 10 10 10	Invoicing and Payment Terms		
	Previously Involced:	Prompt Alexander Sagar deligation of the Control of Street Control of the Control	and the second second second second second
х	Initial Invoice - Upon Contract Execution (Submitted and Paid on Invoice CD2108453)		\$9,589,488.00
x	Invoice CD2113523 (Submitted but not yet paid) - Includes the Delivery and Acceptance of:		\$1,213,738.0
	(328) DS300's		
	(2) DS950's		
	(8) DS450's		
	(2) EMS third party hardware to the Secretary of State and UCONN Office		
	(6) EMS third party hardware to Municipalities		
	(1) Delivery and Acceptance of Electionware to SOS Office		
	(42) Service Days		
	Retainage:		
x	Due upon receipt of federal certification of EVS 6.7.0.0		\$971,450.0
x	Due upon receipt of federal certification of EVS 7.0,0.0		\$971,450.0
	Due upon incorporation of Cross-Party Endorsement into Electionware:		
0.5	Electionware Election Management Software - PYO Base Package	\$218,892,00	\$109,446.0
1	EMS 3rd Party Hardware for the Secretary of State and UConn Office	\$4,751.00	\$4,751.0
84.5	EMS 3rd Party Hardware for Municipalities	\$1,547.00	\$130,721.5
	Remaining Amount To Invoice:		→ \$7,230,903.50
	Invoicing Plan - Remaining Amount:		
2,074	Delivery and acceptance of DS300's	\$2,142.00	\$4,442,508.0
18	Delivery and acceptance of DS950's	\$55,382.00	\$996,876.0
43	Delivery and acceptance of DS450's	\$27,238.00	\$1,171,234.0
5	Delivery of Ballot on Demand laptops/printers	\$2,066.00	\$10,330.0
81.5	Delivery of EMS third party hardware to Municipalities	\$1,547.00	\$126,080.5
245	Services Invoiced as Incurred (Project Management, Training, Public Demos, Early Voting Support and Election Day	\$1,975.00	\$483,875.0
	Support)		→ \$7,230,903.50
			37,230,703.30
	Annualized Cost		
	(Commence Upon Expiration of the Warranty Period)		
	Annual Post-Warranty Hardware Maintenance and Support Fees:	Manufacturation in a consideration of military is a consideration of the con-	terias promo se se o o os oncombo procesoro
2,402	HMA DS300 - Extended Warranty with Annual Maintenance	\$215.00	\$516,430.00
20	HMA DS950 - Extended Warranty with Annual Maintenance	\$4,615.00	\$92,300.0
	TIME DEATH Pater Ja J Hamman with Annual Maintenance		\$160,905.0
51	HMA DS450 - Extended Warranty with Annual Maintenance	\$3,155.00	4100,300.0
51		\$3, 155.00	4100,303.0
	Annual Post-Warranty Firmware License and Maintenance and Support Fees:	\$3,155.00 \$100.00	
2,402	Annual Post-Warranty Firmware License and Maintenance and Support Fees: Firmware License - DS300		\$240,200.0
2,402 20	Annual Post-Warranty Firmware License and Maintenance and Support Fees: Firmware License - DS900 Firmware License - DS950	\$100.00	\$240,200.0 \$37,700.0
2,402	Annual Post-Warranty Firmware License and Maintenance and Support Fees: Firmware License - DS300	\$100.00 \$1,885.00	\$240,200.0 \$37,700.0
2,402 20	Annual Post-Warranty Firmware License and Maintenance and Support Fees: Firmware License - DS900 Firmware License - DS950	\$100.00 \$1,885.00	\$240,200.0 \$37,700.0
2,402 20	Annual Post-Warranty Firmware License and Maintenance and Support Fees: Firmware License - DS900 Firmware License - DS950 Firmware License - DS450	\$100.00 \$1,885.00	\$240,200.00 \$37,700.00 \$91,545.00
2,402 20 51	Annual Post-Warranty Firmware License and Maintenance and Support Fees: Firmware License - DS950 Firmware License - DS450 Annual Post-Warranty Software Maintenance and Support Fees: Electionware Election Management Software - PYO Base Package	\$100.00 \$1,885.00 \$1,795.00	\$240,200.00 \$37,700.00 \$91,545.00 \$62,500.00
2,402 20 51	Annual Post-Warranty Firmware License and Maintenance and Support Fees: Firmware License - DS300 Firmware License - DS950 Firmware License - DS450 Annual Post-Warranty Software Maintenance and Support Fees: Electionware Election Management Software - PYO Base Package Total Annualized Cost	\$100.00 \$1,885.00 \$1,795.00 \$62,500.00	\$240,200.00 \$37,700.00 \$91,545.00 \$62,500.00
2,402 20 51	Annual Post-Warranty Firmware License and Maintenance and Support Fees: Firmware License - DS950 Firmware License - DS450 Annual Post-Warranty Software Maintenance and Support Fees: Electionware Election Management Software - PYO Base Package	\$100.00 \$1,885.00 \$1,795.00 \$62,500.00	\$240,200.00 \$37,700.00 \$91,545.00 \$62,500.00
2,402 20 51	Annual Post-Warranty Firmware License and Maintenance and Support Fees: Firmware License - DS300 Firmware License - DS950 Firmware License - DS450 Annual Post-Warranty Software Maintenance and Support Fees: Electionware Election Management Software - PYO Base Package Total Annualized Cost Note: Annualized Costs are subject to annual increases in accordance with paragraphs 4 and 5 of the CT Ongoing Services And Other Items	\$100.00 \$1,885.00 \$1,795.00 \$62,500.00	\$240,200.0 \$37,700.0 \$91,545.0 \$62,500.0
2,402 20 51	Annual Post-Warranty Firmware License and Maintenance and Support Fees: Firmware License - DS300 Firmware License - DS950 Firmware License - DS450 Annual Post-Warranty Software Maintenance and Support Fees: Electionware Election Management Software - PYO Base Package Total Annualized Cost Note: Annualized Costs are subject to annual increases in accordance with paragraphs 4 and 5 of the CT Ongoing Services And Other Items Programming Services (If provided by Election Systems & Software):	\$100.00 \$1,885.00 \$1,795.00 \$62,500.00	\$240,200.0 \$37,700.0 \$91,545.0 \$62,500.0 \$1,201,580.00
2,402 20 51	Annual Post-Warranty Firmware License and Maintenance and Support Fees: Firmware License - DS300 Firmware License - DS950 Firmware License - DS450 Annual Post-Warranty Software Maintenance and Support Fees: Electionware Election Management Software - PYO Base Package Total Annualized Cost Note: Annualized Costs are subject to annual increases in accordance with paragraphs 4 and 5 of the CT Ongoing Services And Other Items Programming Services [If provided by Election Systems & Software]: Precincts (Price per precinct in the election)	\$100.00 \$1,885.00 \$1,795.00 \$62,500.00	\$240,200.0 \$37,700.0 \$91,545.0 \$62,500.0 \$1,201,580.00
2,402 20 51	Annual Post-Warranty Firmware License and Malutenance and Support Fees: Firmware License - DS300 Firmware License - DS950 Firmware License - DS450 Annual Post-Warranty Software Maintenance and Support Fees: Electionware Election Management Software - PYO Base Package Total Annualized Cost Note: Annualized Costs are subject to annual increases in accordance with paragraphs 4 and 5 of the CT Ongoing Services And Other Items Programming Services (If provided by Election Systems & Software): Precincts (Price per precinct in the election) Ballot Face Configurations (Price per ballot style)	\$100.00 \$1,885.00 \$1,795.00 \$62,500.00	\$240,200.0 \$37,700.0 \$91,545.0 \$62,500.0 \$1,201,580.00 \$20.0
2,402 20 51	Annual Post-Warranty Firmware License and Malutenance and Support Fees: Firmware License - DS300 Firmware License - DS950 Firmware License - DS450 Annual Post-Warranty Software Maintenance and Support Fees: Electionware Election Management Software - PYO Base Package Total Annualized Cost Note: Annualized Costs are subject to annual increases in accordance with paragraphs 4 and 5 of the CT Ongoing Services And Other Items Programming Services (If provided by Election Systems & Software): Precincts (Price per precinct in the election) Ballot Face Configurations (Price per ballot style) Contest / Issue Entries (Prica per contest, referendum, question, and/or proposition in the election)	\$100.00 \$1,885.00 \$1,795.00 \$62,500.00	\$240,200.0 \$37,700.0 \$91,545.0 \$62,500.0 \$1,201,580.00 \$20.0 \$20.0 \$22.0
2,402 20 51	Annual Post-Warranty Firmware License and Malutenance and Support Fees: Firmware License - DS300 Firmware License - DS950 Firmware License - DS450 Annual Post-Warranty Software Maintenance and Support Fees: Electionware Election Management Software - PYO Base Package Total Annualized Cost Note: Annualized Costs are subject to annual increases in accordance with paragraphs 4 and 5 of the CT Ongoing Services And Other Items Programming Services (If provided by Election Systems & Software): Precincts (Price per precinct in the election) Ballot Face Configurations (Frice per ballot style) Contest / Issue Entries (Price per contest, referendum, question, and/or proposition in the election) Candidate / Response Entries (Price per candidate and/or response, including referendum and write-in for each	\$100.00 \$1,885.00 \$1,795.00 \$62,500.00	\$240,200.0 \$37,700.0 \$91,545.0 \$62,500.0 \$1,201,580.00 \$20.0 \$20.0 \$22.0
2,402 20 51	Annual Post-Warranty Firmware License and Malutenance and Support Fees: Firmware License - DS300 Firmware License - DS950 Firmware License - DS450 Annual Post-Warranty Software Maintenance and Support Fees: Electionware Election Management Software - PYO Base Package Total Annualized Cost Note: Annualized Costs are subject to annual increases in accordance with paragraphs 4 and 5 of the CT Ongoing Services And Other Items Programming Services (If provided by Election Systems & Software): Precincts (Price per precinct in the election) Ballot Face Configurations (Price per ballot style) Contest / Issue Entries (Price per contest, referendum, question, and/or proposition in the election) Candidate / Response Entries (Price per candidate and/or response, including referendum and write-in for each contest/issue) Media Burn (Price per memory device)	\$100.00 \$1,885.00 \$1,795.00 \$62,500.00 Source Contract	\$240,200.00 \$37,700.00 \$91,545.00 \$62,500.00 \$1,201,580.00 \$20,00 \$22.00 \$10.00 \$20.00
2,402 20 51	Annual Post-Warranty Firmware License and Maintenance and Support Fees: Firmware License - DS300 Firmware License - DS950 Firmware License - DS450 Annual Post-Warranty Software Maintenance and Support Fees: Electionware Election Management Software - PYO Base Package Total Annualized Cost Note: Annualized Costs are subject to annual increases in accordance with paragraphs 4 and 5 of the CT Ongoing Services And Other Items Programming Services (If provided by Election Systems & Software): Precincts (Price per precinct in the election) Ballot Face Configurations (Price per ballot style) Contest / Issue Entries (Price per contest, referendum, question, and/or proposition in the election) Candidate / Response Entries (Price per candidate and/or response, including referendum and write-in for each contest/issue)	\$100.00 \$1,885.00 \$1,795.00 \$62,500.00 Source Contract	\$240,200.00 \$37,700.00 \$91,545.00 \$62,500.00 \$1,201,580.00 \$20.00 \$20.00 \$22.00 \$10.00
2,402 20 51	Annual Post-Warranty Firmware License and Malutenance and Support Fees: Firmware License - DS300 Firmware License - DS950 Firmware License - DS450 Annual Post-Warranty Software Maintenance and Support Fees: Electionware Election Management Software - PYO Base Package Total Annualized Cost Note: Annualized Costs are subject to annual increases in accordance with paragraphs 4 and 5 of the CT Ongoing Services And Other Items Programming Services (If provided by Election Systems & Software): Precincts (Price per precinct in the election) Ballot Face Configurations (Price per ballot style) Contest / Issue Entries (Price per contest, referendum, question, and/or proposition in the election) Candidate / Response Entries (Price per candidate and/or response, including referendum and write-in for each contest/issue) Media Burn (Price per memory device)	\$100.00 \$1,885.00 \$1,795.00 \$62,500.00 Source Contract	\$240,200.00 \$37,700.00 \$91,545.00 \$62,500.00 \$1,201,580.00 \$20,00 \$22.00 \$10.00 \$20.00 \$20.00
2,402 20 51	Annual Post-Warranty Firmware License and Malutenance and Support Fees: Firmware License - DS300 Firmware License - DS950 Firmware License - DS450 Annual Post-Warranty Software Maintenance and Support Fees: Electionware Election Management Software - PYO Base Package Total Annualized Cost Note: Annualized Costs are subject to annual increases in accordance with paragraphs 4 and 5 of the CT Ongoing Services And Other Items Programming Services (If provided by Election Systems & Software): Precincts (Price per precinct in the election) Ballot Face Configurations (Price per ballot style) Contest / Issue Entries (Price per contest, referendum, question, and/or proposition in the election) Candidate / Response Entries (Price per candidate and/or response, including referendum and write-in for each contest/issue) Media Buru (Price per memory device) Note: Programming services are subject to a \$700.00 minimum fee per town, per election. Other optional programming services	\$100.00 \$1,885.00 \$1,795.00 \$62,500.00 Source Contract	\$240,200.00 \$37,700.00 \$91,545.00 \$62,500.00 \$1,201,580.00 \$20.00 \$22.00 \$10.00 \$20.00 \$20.00

Footnote:

^{1.} ES&S will coordinate the pickup, transportation and recycling of the trade-in equipment on a date to be mutually agreed upon by the parties.

Exhibit A (Vendor Deliverables)

Quantity	Item Description	Unit Price	Extended Price
	Hardware Costs (Hardware Warranty Through December 31, 202	·53	
	DS300 Poll Place Scanner and Tabulator:		
2,402	DS300 (Includes Internal Backup Battery, Paper Roll, Imprinter Ink Cartridge and One (1) Standard 4GB Memory Device)	\$6,030.00	\$14,484,060.00
2,402	DS300 Ballot Box with Power Supply and AC Cord	\$955.00	\$2,293,910.00
2,402	Redundant 4GB Memory Device (VVSG 2.0 Requirement)	\$115.00	\$276,230.00
2,402	DS300 Soft-Sided Nylon Case	\$145.00	\$348,290.00
2,402	DS300 Privacy Screen	\$25.00	\$60,050.00
X	Cost to upgrade the Licensed Software to VVSG 2.0 Certification	• • • • • • • • • • • • • • • • • • • •	Included
	DS950 High-Speed Central Counting System:		
20	DS950 (Includes Steel Table/Cart, Start-Up Kit, Dust Cover, Reports Frinter, Battery Backup, USB Cable, Imprinter Ink Cartridge and Two (2) Standard 8GB Memory Devices)	\$133,170.00	\$2,663,400,00
x	Cost to upgrade the Licensed Software to VVSG 2.0 Certification		Included
	DS450 Medium Speed Central Counting System:		
51	DS450 (Includes Steel Table/Cart, Start-up Kit, Dust Cover, Reports Printer, Audit Printer, Battery Backup, Two (2) USB Cables, Imprinter Ink Cartridge and Two (2) Standard 8GB Memory Devices)	\$64,105.00	\$3,269,355,00
х	Cost to upgrade the Licensed Software to VVSG 2,0 Certification		Included
	Third Party Products:	Arr was no	*** ***
2	EMS 3rd Party Hardware for the Secretary of State and UConn Office	\$5,501.00	\$11,002.00
169	EMS 3rd Party Hardware for Municipalities	\$3,674.00	\$620,906.00
_	Ballot on Demand:	\$ 1,245.00	\$6,225,00
5	Compact Color Printer with Firmware	\$1,650.00	\$8,250.00
5	Ballot on Demand Laptop Computer	\$1,030,00	\$0,230.00
	Software Costs (Software Warranty Through December 31, 2025)	
1	Electionware Election Management Software - PYO Base Package	\$250,000.00	\$250,000.00
x	Cost to upgrade the Licensed Software to VVSG 2.0 Certification		Included
	Labor Costs		
	Implementation Service Package		\$1,004,470.00
X	Project Management		
x	Equipment and Software Training		
x	Regional General Public Demos		
x	Early Voting Support		
x	Regional Election Day Support		
Х	Equipment Acceptance/Installation (Unboxing, Assembly, Testing, Repackaging and Set-Up at Town Locations)		
	Miscellaneous and Other		
X	Shipping and Handling (Includes Distribution to 169 Towns/Cities)		\$320,090.00
x	Currently Owned Equipment Allowance and Statewide Discount		(\$5,394,200.00)
			\$20,221,948.00